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200 kg M 2000 N P=Mg
I0N/m g 0,3adim coefficiente attrito
20m/s  vO 600 N F=kP forza di attrito
-3m/sz2  a=F/M
m kJ m kJ kJ m/s m/s
S Ec As L| EAc \ Av
0 40 10 -6 -6 20,0 -1,6
10 34 10 -6 -6 18,4 -1,7
20 28 10 -6 -6 16,7 -1,9
30 22 10 -6 -6 14,8 -2,2
40 16 10 -6 -6 12,6 -2,6
50 10 10 -6 -6 10,0 -3,7
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220 kg M 2200N P=Mg
I0N/m g 0,2955 adim coefficiente attrito
21,3m/s VO 650 N F=kP forza di attrito
49906 J Ec -2,955m/s2  a=F/M
m kJ m kJ kJ m/s m/s
S Ec As L| EAc \ Av
0 50 10 -6,5| -6,5 21,32 -1,4
10| 43,5 10, -6,5 -6,5 19,89 -1,5
20 37 10, -6,5| -6,5 18,34 -1,7
30, 305 10, -6,5 -6,5 16,65 -1,9
40 24 10 -6,5| -6,5 14,77 -2,2
50, 17,5 10 -6,5| -6,5 12,61 -2,6
60 1 10, -6,5 -6,5 10,00 -3,6
70 4.5/ 6,92 -45 4,5 6,40 -6,4
76,92 0 0,00
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160 kg M 1600 N P=Mg
I0N/m g 0,2955 adim coefficiente attrito
224m/s V0 550N F=kP forza di attrito
401417 Ec -3,438 m/s2  a=F/M
m kJ m kJ kJ m/s m/s
S Ec As L| EAc \ Av
0 40 10 -5,5 -5,5 22,36 -1,6
10| 34,5 10, 5,5 -55 20,77 -1,7
20 29 10, 5,5 -55 19,04 -1,9
30 235 10 -5,5 -5,5 17,14 2,1
40 18 10 -5,5 -5,5 15,00 -2,5
50, 12,5 10 -5,5 -5,5 12,50 -3,1
60 7 10 -5,5 -5,5 9,35 -5,0
70 1,5 2,73 -1,5 -1,5 4,33 -4,3
72,73 0 0,00
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